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BRAINWARE UNIVERSITY

Term End Examination 2023
Programme - B.A.(Eng)-Hons-2020/B.A.(Eng)-Hons-2021
Course Name - British Literature: 18th Century/British Literature:18th Century
Course Code - BELS301
( Semester i)

Full Marks : 60

Time : 2:30 Hou
[The figure in the margin indicates full marks. Candidates are required to give their answers in their

own words as far as practicable.]

Group-A

(Multiple Choice Type Question)

1. Choose the correct alternative from the following :

1x15=1¢

(i) Choose which members of his family are still alive when Crusoe finally returns to
England years later.

a) His parents

b) His sisters
c) His cousins

d) His eldest sibling
(i) Gulliver is strong enough to trample the Lilliputs under his feet, still he decides to bear
with them. This can be assessed as a satire on

a) Colonial tolerance b) Submission of the worthy before authority
c) Gulliver's treatment towards the Lilliputs d) All of the above

(iii) Compare the Tramecksans and Slamecksans and select how are they distinguished
from each other by their.

a) Weight b) Heel height
c) Hat size d) Length of their trouser
(iv) After analysing the text it is clear that the Tramecksans in the 18th century England
represents
a) Whigs b) Tories
c) Catholics

d) None of the above
(v) The empire of Lilliput did not provide education to the children of labourers and

farmers. What Gulliver concludes from this law of the Lilliputs?

a) b) The job of the labourers and farmers was
That the Lilliputs were stupid on the field and hence education was not
important for them.
c) The Lilliputs considered them of lowly )

.. d None of the above
origin

(vi) Statement I: By creating marks on a wooden cross, Crusoe creates a calender.

Statement II: He realizes the natives have no linear concept of time. Express your views
on the following statement and solve the following.
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a) Only | is true b) Only Il is true
c) Both are true d) None are true
(vii) "Then shall thry friend, nor thou refuse his Aid" What element is employed here?

a) elegy b) melodrama
=2 c) mock d) satire
® .o (viii) Some Cromwell guiltless of his countrys' blood' - this line from Gray's Elegy is
gn“n’_?; ambiguous because:
o8 .
s':',‘_g o ) We are not sure of the identity of Cromwell b) W‘.E Are/noLsure wha't it means tg be
s ?' g,}l__ guiltless of a country's blood
38E ;’? c) Whether Gray considers Cromwell guiltless  d) We are not sure if Cromwell is simply a
5% o is not definitely ascertainable here literary creation
Es g (ix) what does an epilogue mean?
§ a) the introduction b) catharsis
c) the last message delevered after the play d) :::ymessage that is delevered before the
(x) where did Lydia and Jack get acquainted
a) york b) Gloucestershire
c) London d) Cambridge

(xi) State why at the beginning of Robinson Crusoe, Crusoe's father tells him the voyaging
life is not for him.

a) He is physically weak b) He does not have the mindset for it
c) It is suited for people who are either above d)
him or beneath him in society
(xii) Recognise from the narrative that when Crusoe sets sail for the first time.

It is a life for fools

a) 15th century b) 16th century
c) 17th century d) 18th century
(xiii) Identify what Gulliver must agree to before the Lilliputians award Gulliver his freedom.
a) Eat the emperor's enemies b) Marry a Lilliputian woman
c) Assist the Lilliputian army d) Leave Lilliput immediately

(xiv) Crusoe is shipwrecked on a voyage where he planned to enslave Africans. This has
made anti-colonial readings of the text possible. This indicates that

a) Crusoe can be read as a hero b) Crusoe can be read as a villain
c) It is possible to read Crusoe's journey asan  d) The novel should not be taugh in 3rd world
allegory for the imperialist attitude countries

(xv) Robinson Crusoe is regularly used to illustrate economic theories. This is one of the
most common trends related to

a) neo-classical economics b) heterodox economics
¢) Marxist economics d) anarchist economics
Group-B
(Short Answer Type Questions) 3 x5=15
2. Describe the scene of churchyard as seen by the poet. (3)
3. How does Lucy figure in to the main conflict of the play? (3)
4. "Had | a thousand daughters, by Heaven! I\'d as soon (3)

have them taught the black art as their alphabet!"
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Explain the quoted lines

5. Explain and write about the survival skills by Crusoe in Robinson Crusoe.

6. Why does Thales want to leave London?

OR

What does Johnson criticize in the poem 'London’

Group-C
(Long Answer Type Questions)

7. Describe the Land of Lilliput as seen from the perspective of Gulliver,

8.  Write how Size acts as a metaphor in Lilliput.
9. Why is Lydia not ready to marry in The Rivals?

10. "Some mute inglorious Milton"
Country Churchyard.

11. Explain and write about the Political satire in Swift's Gulliver;s Travels.

12. Compare the city London and the cit

y outside the London. Why the citizens of London
were unsatisfied and frustrated with

the government?

OR

Write a short note on the representation of women in Robinson Crusoe.

****************************************

(3)

(3)

(3)

5x6=30
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